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g0 up from 3 m to 33 m in 30 seconds. v /
In the second half, the person will go x .-
back down to 3 m.
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1. A Ferris wheel has a radius of 35 m and starts 2 m above the ground. It rotates once every 53 seconds. =
a) Determine the cosine equation of the graph, if the rider gets on at the lowest point. .

ey ,

. M

- '. ‘-’f‘) F L
I -r -

1:'."

f "3 L2, ‘_ = o __ N l_‘ | _ Z:ﬁl
Qe ’..-:ZEQ-A BT Thiclwe: 7—; = 57 D= 53 \ =25 Co8 53 =2 © 8l
b) Sketch two complete cvcles of a graph representing the height of a rider above the ground, assuming the

nder gets on the Ferris wheel at the lowest point.
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c) What is the height of the nder at 81 seconds?
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d) At what time does the rider first reach a height of 51 m?
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2. A Ferris wheel makes 4 revolutions in one minute. The diameter of the Ferris wheel is 28 m, and a rider boards

from a platform at a height of 30 m above the ground. The ride lasts 30 seconds. =~ 0O
a) Determine the cosine equation. (Hial: Think about where the rider is starting in this question.) P q =\ 3“
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b) Sketch the graph for the complete ride.

ot

I

S . 1.5 ¢« iy aof ST
Z IOW POVNT

Height (m)
i B

" at ti gs,isa\ende:atahenght of 20 m? |



